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Extra Practice 3

	Lesson 2.3: Order of Operations with Powers

1.
Evaluate.

a)
52 + 3
b)
52 – 3
c)
5 + 32
d)
5 – 32
e)
(5 + 3)2
f)
(5 – 3)2
g)
52 + 32
h)
52 – 32
2.
Evaluate.

a)
43 × 2
b)
43 ÷ 2
c)
4 × 23
d)
4 ÷ 23
e)
(4 × 2)3
f)
(4 ÷ 2)3
g)
43 × 23
h)
43 ÷ 23
3.
Evaluate.

a)
(18 ÷ 32 + 1)4 – 42
b)
33 ÷ 9(30 – 22)
c)
(122 + 53)0 – 2[(–3)3] 
d)
(7 – 5)3 × (8 + 2)4
e)
(42 × 15)2  
f)
[(–3)4 – (–2)3]0 ÷ [(–4)3 – (–3)2]0
4.
Aftab, Shane, and Kyra got different answers when they evaluated this expression:
(–4)2 – 3[(–9) ÷ 3]2  Aftab’s answer was 97, Shane’s answer was 43, and Kyra’s answer was 19.
a)
Show the correct solution.
b)
Show and explain how the students who got the wrong answer may have evaluated.
Where did each student go wrong?
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[image: image2.png]a) The correct solutlon ,
(~4)° - 3[(-9) = 3]’ = (4)° - 3(-3)° = 16
—3(9)=16-27=-11

b) Shane probably thought that (—3) =-9;
here isa p055|ble |ncorrect solutlon
(-4 - 3[(-9) = 3 = (-4’ - 3(-3)° = 16
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